In class worksheet


Integration Techniques: Integration using trig functions

1. Let’s start with two review problems. We know we will use either the identity 
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 or the identity 
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. Solve both problems and state WHY you used the method (identity) you did to solve each problem. You may work with others.

a. 
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b. 
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2. Now let’s look at our identity 
[image: image5.emf]sinx+cos’x =1
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. Divide both sides of this equation by 
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. Simplify your work. What do you have now? 

3. For the next two problems, you will either make a substitution of u = sec x or u = tan x. Which one will you use which substitution for and why? Hint: You will also have the identity that you derived in #2 to use on these problems and also think about your du. 

a. 
[image: image7.emf]fsec9 xtan’ x dx
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b. 
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4. What about 
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? Recall we can do this using calculus I techniques.

5. Together we will evaluate 
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